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All entries in the OMR answer sheet should be with blue/black ball point pen only.
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The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.
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On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with you.

g el 3o U @ FHd gl

The question beoklet can be retained by the candidate.

a6 F g g & e it e oem gfa oise i A 8 B

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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e HES — JARHAA/SCIENTIFIC ASSISTANT (CHEMISTRY)

pos

forelr farcrarer @7 pH 4 ¥1 afe 38 feam & 50 el &1 9=l % @ daFas= 100 fran s=mar

& ar 39 o &1 pH—— ¥/ pH of a solution is 4. If 50 ml of the solution is diluted
with water to get 100 ml, pH of the new solution is: ( log 2= 0.3, log100 =2, log 50 =1.7)
(@ 2 (b)y 4.3 ' () 3.7 d 14

WEAS FT A TASTI/Name the complex:  (NH)[Ni(C00)2(Hz0),]
(@ 3IHAIfETH sFEETeE (3fFaary) e (I1) / Ammonium diaquabis (oxalato) nickelate(I)

(b) sSEIAEIR sAFERE  (3fFFEAE) fAwoe (1)) Diammonium  diaquabis (oxalato)
nickelate(II)

(c) 3AIATH 3T (3Fwerey) FFere (1) /Ammonium Diaqua (oxalato) nickelate(IT)
(d) s gy (3ifFEere) W@ (11) / Ammonium diaquabis (oxalato) nickel(IT)

forer Tsher e yomelt A, wraRer W UREy waife —— <Ror 8@ 'S §1/ For a
one component system, the maximum number of phases that can co-exist at equilibrium is

(a) 3 . b 2 © 1 (d 4

U J6T FT 3818L9T g1/An example for a buffer is
(a) wifsgw fATe 3R THeF 3a/Sodium acetate and acetic acid
(b) ®fFFH FAREE IR EgFARS 3a/Sodium chloride and hydrochloric acid
(é) HATTH FeRss VR 3/ Ammonium chloride and acetic acid
(d) @‘%?ﬂ? S 3 BT Ae/Sodium bicarbonate and sodium acetate

fAmfaf@a gfafirar . AR #¥1/Consider the following reaction:

P4 +30H +3H,0 ——> x +y (W90 3R 1% &1 BiedRy edeet &l/both x and y are
phosphorus derivatives) '

SHYFT TTATHAT # F: T qAT 15 F FEERE B HRNFOT IEwre = §7

What are the oxidation states of phosphorous in x and y respectively in the above reaction?

(a) -3,+3 (b) -3,+1 () +3,-1 d -3,+5
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10.

faft TR & figas F &9 & gE & ofdhe TeaEed & 0.50 Aee fAeds &1 3uher R
STaT ¥ At gl # REE e 1.86 B ufa Aere § a9 Bsor Ba g seem? / A 0.50

molal solution of ethylene glycol in water is used as coolant in a car. If the freezing point constant
of water is 1.86 degree per molal, at which temperature will the mixture freeze?

(a) 1.86°C (b) -0.93°C © -1.86°C d 0.93°C

&

[A] ¥ @igor & vy § Pl gRdw st gfafkar o foom w1 /Consider the

following second order reaction with respect to the concentration of [A]:

2A — 3care/products
T FRF k ¥ WK & ad $ @Y vE Al [ 9ed e F 0, GG Gee § §T A
FAT AR FAT Afge? / To obtain a straight line with slope equal to the rate constant k, what

should one plot as a function of time?

1

@ [AF ® © Al @ &

fPfaf@a & fra # ura-urg e £ /Which one of the following contain metal-metal bond?
(a). Fie FeRTss/Cupric chloride (b) T FANTSS/Stannous chloride
(c) AFHRIW FeRgs/Mercurous chloride . (d) AFHRF FoARTgs/Mercuric chloride

X & 2.3% C,H;OH dur 97.7% Gt arer frdr Aega & wder & arEvEEar e 82

(TAATer T IR 46 3R gl #1 IR 18 ) / What is the molality of ethanol in a solution of
2.3% C,HsOH and 97.7% water by weight? ( mol wt of ethanol is 46 and for water is 18)

() 5.1 (b). 10.2 ) 204 @ 4.1

& F Rogdhe Regd-smues AR FEgTEes & Hed Goda A 208K R OH
TS @7 THGOT 4.0 x 10°M &1 298K YT a0 F FIIT Iedig #4T §? / The concentration of

OH ions at 298K in a saturated solution of magnesium hydroxide, a sparingly soluble electrolyte, is
4.0 x 10*M. What is the solubility product of the salt at 298K?

(@) 8.0x10™" (b) 4.0x10® ) 32x10™M d 125x10™"
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11.

12

14.

frfafad st & frasr v curd gfafaya 3meaet & /Which one of the following molecules

has a permanent dipole moment?

(1) BCls

(b) URT SEFARISwaiai/para dichlorobenzene

(c) YR SEEEglddr swoileA/para dihydroxy benzene

‘(d) CCly

TE T HIfT gfafear o3 3wy 10 fAEe g1 3w ufafer @ 75% o W aw & R
fohdeir wHT ot (fAster #)? / A first order reaction’s half life is 10 minutes. How long it will
take for the reaction to be 75% complete (in minutes)

(@ 5 (b) 20 © 75 @d 15

AT (F1el) F o F Reafaf@d st w R AFFTI / Consider the following statements

about methylene( carbene):

1. ST & Garer-Iue & g AT ® ®9 Gar Sar g1 /Methylene is formed by
the photolysis of diazomethane.

2. AN & o e &7 & aFa €, vha a1 BF 3GEAT /Methylene can exist in two
different forms, the singlet and triplet states.

3. uhd AN gfawes @lar § 3R B saer & geer # 3f0e R @ar §1 /Singlet
methylene is a diradical and is stabler than the triplet state. :

4. 99 3ol T IuRATT H ARVSA 379w v Srar § a9 agFaNdst g aJrd g/

When methylene is generated in the presence of alkene, cyclopropanes are formed.

3UIFT FUAT H FIT-¥ AT T &7 /Which of the statements given above are correct?

(- 1,2and 4 (b) 1,2and3 () 3and4 (d 1,3and4

H,O & |/ NCE; @1 wfafsear & 3carg ——— @i / The products of reaction of NCZs
with H,O would be:

(3) N(OH); and HCE (b) NH;and HOC? () NH,CtandO, (d) N,O and HCY
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15;

16.

17.

18.

SHRAT 9r38T F7 0.5 ¢, 20 A, 0.1 N WA qdiethe Ferds & W Yfdfhar Hdre KIH

TS T HFT HAT ¢ Sefeer GI3sT T AT TSt 3721 fohder 87 / 0.5 g of bleaching
powder liberates iodine from KI that reacts with 20 ml of 0.1 N sodiumthiosulphate solutitn. What
is the active oxygen content in bleaching powder?

(a) 5% (b) 6.2% ©) 32% d) 4.8%

ﬁagﬁgaﬁuxﬂ?@wﬁamm FH H wedr Sdr 81 / In the

electromagnetic spectrum, the wave number decreases in the order:

(a) TFEAXY >HEH JEET > 3HalFd > eT / X-ray > microwave > infrared > ultraviolet
(b) TFHEY >FEH T >RISIAT >3atera / X-ray > microwave > ultraviolet > infrared
(c) TFHY >WEI>3atFd >H&H i1 /X-ray > ultraviolet > infrared > microwave

(d) |EA T >HaTEFd >G> TFF-L /Microwave> infrared > ultraviolet > X-ray

mﬁW&Wm#mwmwo.635gmlgwgusarznsﬁﬂsomé’r.
02 N @ftad uigehe fawa & 3907 el g fad F 99 F AR H gfauaar

grefrl (Cu T TAT] HX 63.30 &1) /0.635¢ brass dissolved in acid and treated with

excess K1, the liberated iodine consumes 60 ml of 0.2 N sodium thiosulphate solution. The wt % of
copper in brass is( Cu atomic wt 63.30)

(a) 70% (b) 52% © 60% d) 45%

e Reae & 3uRyd sifFmfas s 7 &, HoS0, 1 3ufeafa & KMnO, faee & &
S AT & PriRa $1 o wwdr ¥ Afe, X s e HCL § o 7% R s @
Sy ¥ STFT HROT F4T &7 /The amount of oxalic acid present in a solution can be determined by

its titration with KMnO, solution in the presence of H,SO4. But this method fails if the acid used in
the titration is HCE. This is because

(a)° HCL sfaafas 3w & sod Haw-3nfPa® h-31ee @ g a1 §1 / HCE breaks the

strong intramolecular h-bonding in oxalic acid

(b) HCE 3iferariae 3ma & @y gfafear ats Jierarioe FeRigs Serdr &1 / HCE reacts with

oxalic acid to form oxalyl chloride

(c) WWWWHCEWW%W#WW%I/HGE
suppresses the ionization of oxalic acid by common ion effect

(d) AEEE H HCL Mn* & HH &L &aT €1/ HCE reduces permanganate to Mn**
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19.

20.

21:

22,

gfafear 2A(g)+3B (g) - 2C(g) & forw AH = 100 kJ/mol and AS =-200 J/K/mol & & 35 wfafsar

F A deo g HH-U-FA Rl AgEE HT 3maRIASAr 82 [For the reaction: 2A(g)+3B (g) -

2C(g), AH = 100 kJ/mol and AS =-200 J/K/mol. What is the minimum temperature needed for the
reaction to proceed:

(a) 20K (b) aIHTET & f&=T/At no temperature

-(c) 100 K : (d) T AIIAAT 9/at all temperatures

forelr JMEfRaTe I 1 Tk A HOT, 27°C W 1 atm F ERF @9 W, 10 atm ¥ AT §1 37
g ErT fRw T FR FT IGRACT —— FI(R=2 Cal/mol/K):

One mole of an ideal gas expands from 10 atm against a constant pressure of 1 atm at 27°C. The
magnitude of work done by the gas is (R= 2 Cal/mol/K):

(a) 1981 Cal (b) 1382 Cal
() 991 Cal d 7282 Cal

ffoi@d & v ReEwes/AlcE & & 7 FF H FFhaared 1 0] /Among the following,

which can function as an explosive/propellant?
(a) 3AfATH LT;Toﬁia’an‘nmonium perchlorate
(b) 3FATATH Fethe/ammonium sulphate

(c) 3rfaTeT wieke/ammonium phosphate
(d) 3AETE FaRSs/ammonium chloride

Iheter —— fAgia o & T g1 /Refrigerator works on the principle of

(a) S WFEeT wsTa/Joule Thomson effect
(b) 3rarmst aRegs/Avogadro hypothesis
(c) Yr&hel T @A/ Pascal’s law

(d) o =mefeay fAgid/Le Chatlier principle
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24.

29,

26.

27.

Seollleelies &l — a1 9red a1 Sar §1 /Benzanilide is obtained by

() EELFHHST F WY Seciiithellel 7 Gfafhar R 38F g AT YAedaET / reaction

of benzophenone with hydroxylamine followed by Beckmann rearrangement

(b) CIEIRTH UTAAES & TY Sfeae FeR1Ss H wfafwar 3 36E @ STl 39ue / benzyl
chloride reacted with potassium phthalimide followed by hydrolysis

(c) dRREA TEass & @Y 399 fHU U SHAATESEss / benzaldehyde on treatment with

potassium cyanide :

(d) frass T weTeEEEs & @y gfafear fRar g3m feter /phenol reacted with aniline and
formaldehyde

RECHT ——— g I/paracetamol is:

(a) urT 3@ f=rel/paraacetamido phenol

(b) 3mafea afafafes 3Fa/acetyl salicylic acid

(c) Frazer @fef@ele/phenyl salicylate

(d) YRT gIESIfFEer SwsTAEE/para hydroxylbenzamide

Hrafatag i § sla-ar aRgF gegieags F g gfafear J8r s G&dr? /Which of the

following gases cannot react with sodium hydroxide?

(a) O» . (b) CO; (©) NO, (@ Ct
Rrargethe F O T F IEE TeB{ T ITFEFIOT 3gFT —— g / The oxidation state
of loosely bound sulphur in thiosulphate is:

(@ 2 (b -2 () 0 (d 1

smfasr 3ffea@a Axe™ T & ™ & gI% 8 / In Arrhenius expression

A x eP®T the term e™*T signifies

(a) & & SR A Foft T@arer 3073t T FEAT / Number of molecules possessing energy equal

toE
(b) & ¥ SgFT Foil I@elarel U3 T GEI Number of molecules possessing energy in excess
of E

(c) I 3 &arT § F 3ifUH AT T@at Y THTEAAT The probability that a molecule possesses
energy in excess of B

(d) wsTdr guEaAl S §E&A1/The number of effective collisions

8 _ CH46/15



28.

29.

30.

31

27°Cwﬁw%ahqﬁ%mﬁafﬁwﬁma;magm%mmwﬁw
AT &1 ST &1 sfafFar sifc ———— &1/ For certain reaction at 27°C, the rate constant

increases eight times when the concentration of the reactant is doubled. The reaction order is:

(a 1 by 3 (c)  Y=dlzero d 2

Brefafad & - 0.1 AT T Ao & T Faud T gen? /The boiling will be

maximum for which of the 0.1 molar aqueous solution of the following;

(a) KiSO4 ~(b) ALy (SO4)s (c) @FE/Sucrose (d) AgNO;

S gy B FarE 1 @ 3R THEoT 0.01 WH YR ¢ ad R 369nm * foRal HifAw A

qRETEIET 50 i &1 3He AeR e qone (litre mol! em™) ————— &1 (log 2 =

0.301, log50 = 1.70) / The transmittance of a compound at 369nm is 50% when the path length is
lem and the concentration is 0.01 mole/litre. Its molar extinction coefficient (litre mol” em™) is,
(log2=10.301, log50=1.70)

@@ 170 (b) 69.3 @) 30.1 () 151.8

S O, @ N, & @rar e gt & 27°C R AT R Sar § & Sl ey aRade
giar &2 (R = 2 cal/mol/K) / What is the entropy change when 2 moles of O; and 2 moles of N> are
mixed at 27°C.? ( R= 2 cal/mol/K)

(a) 5.55calK™ (b) 1660 calK™ ()  20.4calK’ (d)  85.6calK’

FIeT T oolT & g T FATTAT FAT §7 /What is common for both ketene and allene?

(2) @t AR & 3R 39 F I9Ees qid & Sdr &1/ Both are unstable and get hydrolysed

easily
(b) T @+ Fur e §1/Both are linear and planar
(c) @t AWGT F FHT T sp ST Iquied I’ AT FEA AT IFHSA sp’ STl o

g &1 / In both cases, the central carbon is sp hybridized and terminal carbon or oxygen are

sp° hybridized.

(d) <t vl gATEgaar @@ §1/Both show optical isomerism
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LI
(U8

35,

fr=faf@a agael # -1 Rd Sa-H=ag7g g Sl &2 / Which of the following

polymers is ea;ily biodegradable?

(a) difel (TEsiEATureAIfsheic/Poly(hydroxyethylmethacrylate) -

(b) drfeiafelFersi/Polycaprolactone

(c) urferereree/Polylactate

(d) uifarfafaenf@ce/Polyvinylacetate

50 gfaerd g grcad Steare 0.1 AR o &orge s pH ——— &1 /The pH of 0.1
molar aqueous solution of gxalic acid assuming 50% dissociation is,

@ 26 ®) 2.0 © 13 @ 1.0

arelT (Fawetieh 100 °C) 3R elegaT (Fagaish 110 °C) & T FHRAER ol Fyo w faar

HL 3E ol & fav Pafaf@a & wla-ar Fua @@ @€ g2 /Consider an equimolar
immiscible mixture of water (Boiling Point 100 °C) and Toluene (Boiling Point 110 °C). Which of
the following statement is NOT true for this system:

(a) g TWoT # = # & 5 uF gewh TACA g 9% I§ YUl Us RN d9Ae W
FayueT F90| / The system will boil at a constant temperature till one of the components is
exhausted in the liquid phase

(b) 3T AT FaUATF I F FaUAR F HA gl / Boiling point of the mixture will be less
than that of water ;

(c) @&t & @ et v ged AT gl as arvq & FY Fued @l / The vapor will have
a constant composition till one component gets exhausted

(d) T 100 °C 3R 110 °C F & & @Ml / Boiling point will be between 100 °C and
110 °C

TR & Fa-¥ ama & o4 & uteyfa & vaual gfafsar 3@ smaer |efe /SN

reaction in presence of OH™ is easier in which case?

(a) ©0H20|
® @T}W

(c) HC=CHCl

(d) HsC—CH,CI

10 CHA46/15



40.

AT HT TEI S ATH g1/The chemical name of sugar is

(a) e/ fructose (b)  TeME/glucose »
(c) gHH/sucrose (d)  Hesird/mannose
& SECTHIHOT § TReled ST S §1 /Terylene is formed by polymerization of

(a) TR TeEHia AR YFefas 3Fci/ethylene glycol and terephthalic acid
(b) RS sTfAa 3 QY 3156 ethylene diamine and terephthalic acid

(c) ufdela #R T saEwia/ethylene and ethylene glycol

(d) U TASHie s ASHZATIAC /ethylene glycol with toluene diisocyanate

FeSO,; TUT Fey(SOy); & TH fAsmor &r CART A ¥ H Hepfora fomam
STaT 81 /A mixture of FeSQ, and Fey(504)5 can be quantitatively estimated

(a) dreRIEAfs &Y g@ruby polarographic method.

(b) TR JraRiEor TIFCAST Z@RTby atomic absorption spectroscopy.

(c) mﬁmaﬁmmmﬁé:wwﬁ%aa#m#mﬁﬁﬁ/aﬁmbymo

step dichrometry involving reduction of ferric ions by sodium sulphite.

(d) SleEcaFaARts AT Aft=T g@Ruby complexometric titration methods.

+ Elgﬂﬁw ¥ ST 6 T uread fRar smar &1/Nylon 6 is obtained by the

polymerisation of

(@) AR e o gFarAfdels sarfAa/adipic acid and hexamethylene diamine
(b) VaIfAF 3T qUT FFAEATACNA SATAA / sebacic acid and hexamethylene diamine
(c) @Hrerred/caprolactum

(d) wiforr e gur gFaATANS safAs / phthalic acid and hexamethylene diamine

11 CHA46/15



41.

42,

43,

44,

Rrdly o AT SRR # o NGNS FTHHEOT QAT @ SaT & v I I FFA g

/For a zero order reaction when the concentration of the reactant doubles, the half life
(a) g gRadar 76/No change

(b) TNET gg AT g/increase four times

(c) 3 g ST §/Becomes half

(d) I & il 8/Becomes double

frer TXoT UGS F 3T &, w9 RRET womer @ R g W TyK) to THK) & afad
ﬁh"aTm%aﬁﬁﬁmﬁmﬁwﬁmﬁ%@W%I/Intheabsenceofany

phase change, the change in entropy when a system is heated from Ty(K) to T>(K) at constant
pressure is given as

AGyi—AH;  AGz—AH, Tz
@ —F - (b) Cplng
Cp(T2—T1) Hy Ha
&) = @ =7

fradr 10 dex 3mES T F o 2 kI Fof F Sher onar ¥ a9 98 A 1 veArafhR & RS
& T 15 Fex @ REgd @ S ¥l GREE Fo # geren aRadd ————— &1 (@«
AT 1.0 L bar = 0.1 kJ) / When 2 kJ of energy is added to a 10 litre of an ideal gas, the gas

expands to 15 litre at a constant pressure of 1 atmosphere. The change in initial energy is (assume
1.0 L bar = 0.1 kJ)

(@) 1.5kJ (b) 0.5kJ © 10K d 125k

FI-0 delleh g@RT COy H WG & Tga=r ST Hhell &2 /CO, can be easily identified by

which technique?
(a) TEFE-Y FeH/X-ray fluorescence
(b) TR/ Ultraviolet

(c¢) 3fatFd/Infrared
(d) TS FegfA$/Raman spectroscopy

12 CH46/15



45.

46.

47.

48.

CuSO; faeraar & Arews & 96.5 F. & v @ 10 amp # gy URT Tog el & af Huis A
SHAT R S=taTer are S AT & FTEY g1 / The amount of copper deposited on

cathode when an electric current of 10 amp is passed through CuSO, solution of 96.5 se equals:

(a) Cu/200 % SATI] $R/Atomic weight of Cu/200

(b) Cu/100 ¥ TIATY] HR/Atomic weight of Cu/100
(©) Cuw/6.02x 10*° & TRAT] HRX/Atomic weight of Cu/6.02 x 10>

(d Cu/10 % 9TAT] HR/Atomic weight of Cu/10

fordlr foerer & pH 3 §1 o9 38 fderger #100 fA.eh. & 3¢ pH & @ faorger & 100 f& .

ST ST & o 39 Av {Fead &1 pH ——— &1 / The pH of a given solution is 3. When

100 ml of another solution of the same pH is added to 100 ml of this solution, the pH of the new
solution is:

@) 1.5 (b) 3 ) 45 @ 3.3

za fortea T FIT Adds g7/Liquid crystal means
(a) @a, St TGO JaEr F 3G ¢ /Liquids with no translational degree of freedom
(b) &, foeg 3RF &7 & Frecalpd BRar ST WhaT §/ Liquids that are partly crystallizable i

(c) ga, SiY TaaEar v U e # @fAd g & / Liquids with restriction in vibrational
degree of freedom

(d) @@, S Toagar & gull quw AT WWEEHT Hgeud A @fAT g9 § / Liquids with
restrictions on rotational and/or translational degrees of freedom

.

WIhceh I8 g1/Natural rubber is

(a) trans poly(2-methyl 1,3- butadiene)
(b) cis poly(2-methyl 1,3-butadiene)
(c) cis poly(1-methyl 1,3-butadiene )
(d) trans poly(1-methyl 1,3 butadiene)
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49,

50.

s

52,

uﬁQOOmgmmﬂgﬁ50%.3%.@3#25%@.3@3@1#%%%%%
T STar & 3 g & R F 100 mg 3FA @ ST § A SEFART Ao gore
(FIETAF/IT) H SeTeliss e & FHTSTA Ul fhd= gPm? / what is the Partition coefficient

of benzoic acid in dichloro methane- water system (organic/water) if 50 mL of water containing
900 mg benzoic acid is extracted with 25 mL dichloro methane and there remains 100 mg acid in
water layer?

@) 4 (b) 8 () 16 ) 18

=7 & At W =R F1/Consider the two compounds

COOH @\CT

OH OH

g §/They are:

(a) UslT=caia/Enantiomers

(b) EEHEARIAATDiastereomers

(c) TAEYTr AdifA/Identical compounds
(d) R IFHATYMeso isomers

gAH HIA-H ATHS H dlesad scshaoT g STrar 87/ Walden inversion takes place in which case:

(a) SNI gfafear/reaction (b)  SNi gfafsdi/reaction
(c) E1 ufafrar/reaction (d) SN2 gfafsearreaction
SaNT Uifordagel Yehlgel ST Sirar g1 /Polyvinyl alcohol is formed by

(a) Taarger UM FT SRR 3 3ITF ag ST 3799ed / Polymerization of vinyl acetate
followed by hydrolysis

(b) fa=TSer Uoenigel &I aaﬂiﬁlWlPoiymerization of vinyl alcohol

(c) Ta=TIser FeREE & a‘gﬁ?ﬁm 3R 38F 9 Fd 3vued / Polymerization of vinyl
chloride followed by hydrolysis

| (d) 3ded # v ol Ag/None of the above

14 CH46/15



54.

33,

56.

QIR H HE a8 H@AeddT ———— & giad aar gl /Half wave potential in
polarography indicates

(a) ®1g faflre g 3maer &1 wfafear Hamedar / The reaction potential of a specific metal ion
(b) IS TaRIST erg 3MAeT HT aleedr 3ifdate / The over voltage of a specific metal ion

() fafre urg 3masr @fta fega-tamafas Hemeddr / The electrochemical potential

involving the specific metal ion

(d) wrg 3mae dfgad T FRE F AT FAod H ggFd HT HRHT H Garedar / The

potential of the half cell that is used in conjuction with the half cell involving the metal ion

O, 3] F Hejdaded ——— H SP-Ied FoFgla A 3URUTT § U1 g &1 /

Paramagnetism of O, molecule arises from the presence of unpaired electron in
(a) 3mEfAT ¢ 3ifdesi/bonding o orbitals

(b) 3TEUER o*3fifaedi/nonbonding o* orbitals

(¢) 3maffa n 3difdedi/bonding 7 orbitals

(d) YT n*3iffaed/non bonding n* orbital

GETNRT qragm afFAy aar g, S geelteor g1 / Wood is a natural

composite where the reinforcement is

(a) @W:«I:Fﬂ?-wi‘r W—W/Cellulose-starch co-polymer
(b) fafs=1/Lignin

(c) diferetda/Polyterpene

(Q) '\ﬁcv_c:l,.ﬂ‘mlCellulosc'

g7 el Teeitnl 7 HiT-ar qaE@As @eyer & v gaifts gagasier &7 Which among

the spectral technique is the most sensitive for chemical analysis?

(a) 3TSIRIR (b) TATAITUNMR
(c) IA-FEE/UV-vis (d) IHA/Raman
15 CH46/15



57.

58.

59. -

60.

W Cv = al’ mmmmﬁmmmmﬁmamwa
ﬁ’zma%laﬁr:-r@rqara?éﬁ3umug3ﬁa$r20Kﬁ30Ka$aﬁ?r"ﬁmm%aTﬁFg¢rﬁ

gftadsr 8T gl / The constant volume heat capacity of a solid is given by the

formula, Cv = aT> where a is the material constant. What is the change in entropy if 3 moles of the
material is heated from 20K to 30K?

(a) 9500a (b) 6333a
(c) 57000a - () 190002

uw &fior 3 HA & PKa = 4 ¥ TF ad Soid fAede & RS swer & gfaerddar
&1/ A weak acid HA has PKa = 4. The percentage of dissociated acid in a dilute

aqueous solution is:

(@ 3% () 4%
© 1% d 2%
FerdioT # WS wEfAw A “A” Edf dFET # TR A A TN AT § 3R

IHTTASEISS Ul THfeH 35 1 UH-Ueh UTH U] 3cdewd AT g1 “A” T HIG=T FIT 97 /
An organic compound “A” on oxidation, consumes one mole of periodic acid and yields one mole
of each of acetaldehyde and acetic acid. What would be the structure of “A”?

(a) CH3;COCHOHCHj; (b) CH;COCOCH;

(cy CH;CHOHCHOHCH; (d) (CHs),CHOHCHO

FEAEEER 3 & 0.1M S faeraer &1 20 A & qoidar selid we gq 3nfaa
0.1M Ba(OH), ¥ 1 # ¥R U 710 f@eaa &7 3gdsT 47 g2 / What is the volume of 0.1M

Ba(OH); solution in water required to neutralize completely 20 ml of a 0.1M aqueous solution of

hypophosphorous acid (H;PO,)?

(a) 10ml (b) 15ml
(¢) 20ml (d) 40ml
16 CH46/15



